
DENSITY
Chapter 1 Section 2



Coke vs. Diet Coke
Similarities Differences



What is density?
◦Density is the amount of  matter within 
a specific amount of  space.



What is density?
◦Density = mass per volume.



What is density?
◦Although we are looking at the same volume, 
tungsten has more mass crammed into that defined 
space.  Therefore, tungsten is denser than water.

Water = 1g/cm3 Tungsten = 20g/cm3

One circle = 1 gram



Density Formula:
◦ “per” = 
◦Density =mass /volume
◦*UNITS = g/mL  or g/cm3



Density Heart:

m

v



Density Triangle:

◦mass = density X volume
◦Density = mass / volume
◦volume = mass /Density



Density Problems
1. A platinum bar measures 5.0 cm long, 4.0 cm wide, and 1.5 cm 

thick.  It has a mass of  700.0 grams.

a) Calculate the volume of  the platinum bar.

b) Calculate the density of  the platinum  bar.

5.0cm x 4.0 cm x 1.5 cm = 30 cm3

700 g / 30 cm3 = 23.3 g/cm3



Density Problems
2. A lead cylinder has a mass of  540 grams and a density of  

2.70 g/ml.  Calculate the volume of  the lead cylinder bar.

540 g / 2.70 g/mL = 200 mL 



Density Problems
3. A cork has a density of  .19 g/cm3 and a volume of  16 

cm3.  Calculate the mass.

.19g/cm3 x 16cm3 = 3.04 g



Density Problems
4. A thin glass bottle holds 25 ml of  liquid and has a mass of  19g.  

Calculate the density.

19 g/25mL = .76 g/mL



Density Problems
5. A bar of  soap is 12 cm tall, 6 cm wide, and 10 cm long.  It has a 

mass of  415 grams.  What is the density of  the bar of  soap.

Volume = 12 cm x 6 cm x 10 cm = 720 cm3

415 g / 720 cm3 = .58 g/ cm3 



Density Problems
6. A sheet of  metal is 2 cm wide, 10 cm tall, and 15 cm 

long.  Its density is .5g/cm3.  What is the mass?

Volume = 2 cm x 10 cm x 15cm = 300 cm3

.5g/cm3 x 300 cm3 = 150 g



Density Problems
7. A pencil has a density of  .875 g/ml.  It has a mass of  3.5 

grams.  What is the volume?

3.5 g / .875 g/mL = 4 mL


